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Old and New envelope
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Optical photons scan

Nom optics Changed (bad) optics




Results w/ new (bad) optics tuning
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Results w/ new envelope and nominal optics

DRICH_aerogel_zpos = 202.10cm

DRICH_airgap_zpos = 204.101cm

DRICH_length = 122.000 cm

DRICH_mirror_radius = 227.615cm
DRICH_mirror_center_x_secO = 113.840 cm
DRICH_mirror_center_y_sec0O = 0cm

DRICH_mirror_center_z_secO = 93.285cm

DRICH_rmax2 = 180 cm = ForwardPIDRegion_rmax
DRICH_rmin0 = 10cm

DRICH_rmin1 = 17.6cm

DRICH_zmax = 322 cm = DRICH_zmin + DRICH_length
DRICH_zmin = 200 cm = ForwardRICHRegion_zmin + ForwardRICHServiceGap
DRICH_sensor_sph_center_x_secO = 183.4cm

DRICH_sensor_sph_center_.y sec0 = 0

DRICH_sensor_sph_center_x_secO = 138.4cm

DRICH_sensor_sph_radius =  110.cm



Results w/ new envelope and nominal optics

Overall NPE for Gas

. . — Underflow 0
12 50 GeV/c K+ sigma and Npe vs p (sensor at nominal) 20 C XZ J ndt 54.1/31
. 1201— Prob 0.006264
C p0 1236 + 66.3
+ 100[— p1 14.49 + 0.12
B p2 0.7598 + 0.0332
¢ sof-
1.0 18 C
S0 eta 3.0 <Npe>~ 14.5
¢ wof sigma_ring ~0.29 mrad
— 2{_;__
T 08 16 C
_ =
g’ o |1|£>H”2|[>| 30l-liIAII;_D‘III&EIIII?E""&'DIIIIQIDIIIH0
= G-’ NPE
S ¢ =3
E , _
o
] [ ] Overall NPE for Gas
2 0.6 14 _ Underflow 0
¢ L ¥2/ ndf 28.2/31
¢ 1201— Prob 0.611
L po 993.3+ 57.7
* 100~ p1 10.09  0.10
o = p2 0.9706 + 0.0470
0.4 12 C
. ® s eta 3.5 <Npe>~ 10
L] r . .
s sof- sigma_ring ~0.4 mrad
¢ C
0.2 ; . ‘ . : : : : 10 -
1.50 1.75 2.00 2.25 2.50 2.75 3.00 3.25 3.50 C
eta 20__
iy o S ool oo e b b Lo Lo
[1] 20 30 40 50 (2] O a0 ket 100

MNPE



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6

